Yy —t — O & E & (20184) T HR %
TE - 4ES b
1A~12A | st
% 17 1 B |28 1|38|48 |5 8|68 |7 8|8 A8]|9A8 10811 8|12 8 ;
2 it [ #A tE
M F——— 77. 8% 77. 3% 75. 4% 73. 9% 74. 4% 72. 3% 70. 5% 73. 6% 76. 5% 76. 5% 74. 1% 75. 6% 74. 8%
17,967.5 18,824. 8| 20,433.0| 20,909.7| 19,972. 19, 385. 19, 026. 19, 377. 19,934.7 21,422 4| 20,738.7 20,927.8 238,921.01 99.8
v ky—t—s | 9 5 0.7% | 11.2% | 12.7% | 11.5% | 12.0% | 14.4% | 13.5% | 10.8% | 10.4% 9. 8% 9.7% 11.3%
2,199.7 2,353.1 3,038.6 3,593.4 3, 090. 3, 217. 3, 891. 3, 563. 2,808.7 2,914.2 2,730.8 2,698. 2 36,098. 8] 100.9
A FY—t— 1.1% 1.2% 1.2% 1.2% 1.3% 1. 4% 1. 6% 1.3% 1. 4% 1.3% 1.3% 1. 3% 1. 3%
255.7 281.9 320. 8 352.3 357. 381. 425. 339. 353.0 375.7 369.8 349.7 4,162. 8] 103.4
ROZFY—b— 4. 6% 4. 9% 5.4% 5.4% 5.7% 6. 9% 6. 7% 5.1% 4. 7% 4.5% 7. 0% 6. 4% 5. 6%
1,061.2 1,182. 71 1,474.7 1,536.9 1,524. 1, 845. 1, 812. 1, 339. 1,217.8 1,267.2 1,949.5 1,776.2 17,988.7] 107.8
RSAy—t— 1.9% 2. 0% 2.3% 2.2% 2.0% 2. 2% 2. 4% 2.3% 2. 0% 2.2% 2. 4% 2.5% 2.2%
442.7 491. 8 611.4 633.0 538. 596. 648. 601. 520.3 620. 3 668.0 694.7 7,067.3] 111.4
EIRIAY =Y 20. 1 33.2 41.7 38.8 41. 36. 32. 41. 36.9 51.17 74.5 107. 3 563.1] 110.2
L=y —t—3
! I 0.2 0.1 0.3 0.2 0 3. 0. 0. 0.1 0.2 0.3 0.2 6.0] 187.5
L/RA—R—2
A ) 1.7 1.5 1.9 1.9 1 2. 1. 2. 1.3 3.1 1.7 2.0 22.8] 151.0
My ——
MEMRY ==Y 5.8 17.6 8.9 11.8 10. 9. 8. 4. 6.7 7.1 6.7 4.3 102.6] 94.3
WS — b — 3. 2% 3. 0% 2.9% 2.8% 3. 0% 2.9% 2. 7% 2. 6% 3. 0% 3.1% 2. 9% 2. 6% 2. 9%
731.1 735. 4 788.5 796.9 817. 781. 734. 691. 775.1 854. 6 817. 4 711.1 9,234.7] 96.8
SHA ) —_—s
BEY/—t—Y 2.2 1.6 1.4 1.2 1 1. 1. 2. 1.7 2.0 1.6 2.0 21.01 92.9
MEMBEE Y —&—
Rk 7 3.2 1.9 2.4 2.4 5. 4. 5. 5. 6.7 5.0 3.4 2.5 48.6] 95.7
Totmy—t—2 404.9 411.6 387.2 404. 2 468. 534. 413. 343. 390.2 456. 8 608. 1 401. 1 5,222.8] 83.9
s =
= ”+ 23,096.0 24,337.2| 27,110.8| 28,282.7| 26, 829. 26, 801. 27, 003. 26, 312. 26, 053. 2 27,986.3| 27,970.5 27,677.1 319, 460. 2] 100. 2
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